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We testify regarding this person that he is liable for exile

OVERVIEW

The mawn taught that if o7y testified that a certain person is N3 21, for he killed
someone 3 W3, and the 0°7y were an:, the rule is that (the 2°7¥ do not go to M93,
but rather) the 0> receive mpon. This indicates that if they were not an:, the o7y
would be believed and the accused would go to mx.! Our Mmoo first questions and
then explains this premise.

mooIn asks:
- Zm”n P12 Y 519 XM IMTYa MY) 11ND B9 BN NP 9IND ON)

And if you will say; how can the o>7v obligate the accused to be 579 (if they

were not 01177), since the accused can claim, ‘I killed intentionally’;3 in which case
there is no M%3. MOIN proves that this claim of °n*7 7 is capable of removing any obligations
which stem from being a AW (such as M3 [or a 127p 211]) -

- (3,597 N8N N22T NNPP H993 “a5N NN 223 9INTD

As the Xn»2 states in the first p=5 of »'"'2 noon regarding the case of 257 n¥aN.

Similarly here, why should the accused be 1213, since he could claim I was a 71 (and there is no
m>3 by a 71 [only by a xw])?

N1B0IN answers:
- $1919:) N9 91919 NIINY INPN Y1920 DRYIY 9315 09939 12 INIYI 59517 9115 Y

And one can say; that we are discussing a case where the witnesses saw
corroborating evidence that he killed x1w2, for instance they saw that the iron
blade flew off from the handle (and killed the victim) so in this case we can

! See previous P7°¥n 1"7 Moo [TIE footnote # 3].
2 When the o*7v testify that he killed he can respond, ‘but it was 712", so there is no m¥x. See “Thinking it over’ # 4.
? See “Thinking it over’ # 1.
* 7y testify that a certain person ate 257 (and the accused claimed ‘I did not eat 257°), the rule (according to n"A is
that he is 211 a XYM J127p; eating 3W32 271 obligates one for a NXYA 127, however the 251 maintain that the rule) is
that he is 75 from a nXvn 127p, for the accused could claim, ‘I was a 77’ (and there is no nXwvr 127p for 71 [only
for aw]) See footnote # 5.
> See Mo there 7 1"7 that when the o°ndn state that he could claim *n»a 7' (see previous footnote # 4), this
means that we can interpret his claim of *n%3X X? to mean 7> ROX 3 *N72XR K7 (so there is no j27p). Similarly here
(even if he said *nx177 X?) we can interpret his claim of N7 X7 to mean 7o K2R AW N3 K2 (so there is no 21n
).
6 However, in the case of 2711 92K, there is no way to distinguish whether it was A2 or 713, therefore he/we can
claim *n»i 7m0,
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reasonably assume that he did not intend to kill, and is m%3 2n.

mooIN asks;
- T3 939N NIWT (3,0 9719p%) P71 171N P9 )INT XA HYP YaN

However, there is a difficulty from this which we learnt in a 7w in 37 %8 pa2

P97, that an enemy who killed the person he hates 3\w2a is not 7%, This
concludes the 7iwn. NDOIN comments -
- 79349 ©959 59107 INTT 119 1T 1IN NN CHYI ANINT NODIT NINI INA 99 INY

Is it not so that a X1 is not 7713 in the same manner that a friend (not a X1)
who killed xwa is 77933! We have just concluded that an 2mX is 7793 only in a case
where there was 127> 0931 that it was 2w2.'% So if there is 727> 0°930 that it was
A2, why is a X1 not 7793, since there is 9279 29937 that it was done xwa.

nv0IN answers:
- Yyn9n ANIYAT 590 Y 139 WIT NIY INVYT 9129 U

And one can say that a X1 is different from a regular case, for there is a
greater assumption that he killed him in enmity even though it appears (1272 2°737)

that it was A w2. The assumption of a X1 killing 7°712 outweighs the a1 assumption based on
the 9272 °%0.

mooIn offers an alternate answer: '
= NMIYN NN NNV 93279 099 X947 999V 2999197 91995 v 7w

And additionally one may say; that indeed by a X" we are discussing a case
where there is no 237% 2°937 that it was done 232, so now the ruling by N is
understood why he does not go to m>3, since there is no 7272 0°231 that it was 32 and he is a
X1W, so we presume that the X112 killed him 7°122. However the question remains; we understand
that the cases of X1 2K are the same'® meaning that the case of 2mK is also where there is no

7275 2°93, so why does an 2R go to M»3, let us say °n>*17 711 (as MoHOIN asked originally). MmsoIN

responds -
= D19 17 19IRYI PXNYT 1D NN AMN OIPN o)

7 Presumably the reason is that since he is his enemy we assume that the killing was done 713, and not 3 wa.
¥ When the 71w states that a X1 is not 727 it is discussing the same case where an 27X is 723, for if it is discussing
a case where an 27 is also not 771, why state X1 (no one is 773 in such a case).
? It obviously was done 31w3 so why should the X1 not be 723 (see footnote # 7).
19 Otherwise (even) an 2K is not 1 since he could claim *m>3 7
1 However, by an 2m& (not a 1) since there is 1277 0°737 that it was aWw3, there is no independent reason to
assume that it was done 7°2. (and the claim of >n*7 7>t will not be accepted)
12 According to this answer if there was 127> 2°931 that it happened 3w3, even a X1 would go to N9,
" See footnote # 8.
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But nevertheless (even if there is no 7272 2°%37 that it was 32w32), the amMN is 793,
(only) in a case where for instance where the alleged killer was silent in 7"°2

when the witnesses told him, you killed him."* He cannot claim *n»7 T, since he

accepted the testimony of the 0*7y.
=P RIN IMNY 1PNIIN KD 991D NIND D152 1NN XY 99X 7N N Byna

If killer would have responded, ‘I did not kill him’, he could certainly
interpret his statement to mean, ‘I did not kill him 33, but rather I killed him
7oTRa -

INYT ANTIND PRYT 193 Yax 250 snYaN NYa 9

Just as in the case of 2% sn®>K8; however since he was silent, it is like he admits
to the testimony of the 2>7¥ that he killed »W2, therefore he is 771

In summation; the rule of M2 is where there was no 1272 2°230 that it was 2122 and the alleged
killer did not deny the testimony of the 2>7y. Therefore by a X1 he does not go to m»3, since we
assume that he killed him 7°112; however by an 2mX, he goes to M%) since he is admitting to the
testimony of the 2>7v (that he killed »w2). If however he denies the testimony and claims &7
’na77, he does not go to M?3 since we can interpret >N XY to mean 721 KPR AW N30 RY.

SUMMARY

We can either assume that the n173 2111 is in a case where he (is silent or) claims X9
N0, but there is 1272 0°937 that it was aWwa (and nevertheless by X1w we still
assume that it was 7°112), or that the m%3 21’11 is where he makes no counterclaim,
therefore by an 2mMX we assume it was 232, since he did not contradict the >7Vy
(and by a X1 that it was 712). However, if he claimed >naan &% then he would not
be 71713 ([even] by an 27IX) since he can interpret it to mean 712 KoK AW N3 K.

THINKING IT OVER
1. moon asks why the accused should be 791 since he could have claimed 7°m
n»11."7 However how could he have claimed >n>n 7’773,18 since we have a rule that

'* However by a X1 even if he did not respond to the o°7y, we assume that he killed 72 since he is a Xnw.

However by an 2mR we assume that it was 332 (even if there was not 1272 °937). There is no reason to assume that

he killed 712 since he is not a X172 of the victim. See ‘Thinking it over’ # 3

1> Others amend this to *X77 (instead of *X712).

'® By 291 *n9ax &Y he can reinterpret his words to mean 7T X98 330w *n99K & (and be exempt from a 1277). Similarly

if he would have claimed 1°n3177 X%, he could have interpreted it to mean 7> X2X 2w N7 &2 and be exempt from

moa.

17 See footnote # 3.

' This is especially difficult according to the interpretation of Mmoo (see footnote # 5) that we interpret his claim of
3
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YW MXY 0°wn 07X X (we do not believe anyone who claims he transgressed a sin,
which would make him a yw)?!"

2. What does n1801n assume in his initial question (and first answer) regarding the
response of the alleged killer; was he silent or did he claim >nx1i7 852

3. In MpOIN initial question (and in the final answer™’) we do not assume that there
is 7275 2°937 (that he killed 3wa);*' why therefore should he be 793, perhaps he
killed Trma?!*

4. Is moo1n initial question™ in general; how can 0¥ ever be M3 2»n» (since he
can claim *n»i 7m), or is it specifically a question on our mwn?**

N3 RY to mean 7717 K9X AW AT RY!

19 See X"wAmn and TM5NT wAOn TR # 148 — 161, ete.
20 See footnote # 14.

2l We assume this only in the (first) answer.

22 See HRMW " MWW

2 See footnote # 2.

2 See Tmbnm won WX # 132.
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